
®

#/4" x 8" x 72" (Qty: 5)

N
N
N

N
N
N

B

B
B

B
B

B

C
C

C
C C

C

#/4" x 8" x 96" (Qty: 2)

!/2" x 8" x 60” (Qty: 1)

G H H

J J

K K

M

III III III III

CUTTING DIAGRAM

KITCHEN ISLAND CART
Issue #273     Volume 58     Number 5 SEPT/OCT 2002

Page 1 of 2
Copyright 2002, August Home Publishing Company.

All Rights Reserved.

MATERIAL AND HARDWARE LIST

A (3) Shelf Cores (plywood) 1/2" x 173/4" x 273/4"
B (6) Shelf Frame Frts. & Backs (maple) 3/4" x 11/2" x 30"
C (6) Shelf Frame Sides (maple) 3/4" x 11/2" x 20"
D(12)Shelf Edging (1/8" alum. angle) 3/4" x 3/4" -- 27 lin. ft. rgh.
E (4) Legs (1/8" alum. angle) 2" x 2" -- 10 lin. ft. rgh.  
F (4) Spacer Blocks (plywood) 1/4" x 23/4" x 33/4"
G (1) Back Rail (maple) 3/4" x 4" x 30"
H (2) Side Rails (maple) 3/4" x 4" x 191/4"
I (4) Mounting Cleats (maple) 3/4" x 25/8" x 191/4"
J (2) Drawer Front & Back (maple) 1/2" x 31/2" x 25"
K (2) Drawer Sides (maple) 1/2" x 31/2" x 181/2"
L (1) Drawer Bottom (plywood) 1/2" x 18" x 25"
M (1) False Front (maple) 3/4" x 315/16" x 263/8"
N (1)Cutting Board Top (maple) 2" x 221/2" x 321/2"

HARDWARE & SUPPLIES
• (2) Formica "Corrugated" Plastic Laminate - cut 17" x 27"
• (2) 18" Full-Extension Drawer Slides w/Screws
• (4)  3" Double-Locking Swivel Casters
• (94) #8 x 5/8" Stainless Steel Screws
• (24) #8 x 1" Stainless Steel Screws
• (14) #8 x 11/2" Fh Woodscrews
• (21) #8 x 1" Fh Woodscrews
• (16) #10 x 1" Ph Sheet Metal Screws w/1/4" Washers
• (2) #8 x 11/2" Ph Sheet Metal Screws w/1/4" Washers
• 83/4" Bar Pull (Pearl Nickel Finish) w/Screws  



®

!/2" Plywood - 48" x 96" (Qty: 1)

A A A

L

F F F F

Plane to " thickness!/4

KITCHEN ISLAND CART

Page 2 of 2
Copyright 2002, August Home Publishing Company.

All Rights Reserved.

Issue #273     Volume 58     Number 5 SEPT/OCT 2002

CUTTING DIAGRAM


